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1 1-1 AL |(=TEEETEWL () 11858 0.15 0.17
2 1-2 B [ =FEEETERL(2) 11A5H 0.18 0.20
3 1-3 AL |=TEEETEL(3) 11858 0.20 0.24
4 1-4 M [ =FTEEETERL(4) 11A5H 0.19 0.25
5 1-5 AL |=TEEETEWL(5) 11858 0.20 0.26
6 1-6 M [ =FTEEETERLL(6) 11A5H 0.18 0.25
7 1-7 Al |=TEEETEWL(7) 11858 0.20 0.25
8 1-8 B [ =FEEBETEHB) 11A5H 0.16 0.24
9 1-9 AL |=TEEETEH(2) 11858 0.18 0.28
10 | 1-10 B [ =FEEETHB(3) 11A5H 0.23 0.37
11 2-1 ALt |=TEEETE#L(8) 11858 0.20 0.32
12 2-2 M [ =FEEETERLL(9) 11A5H 0.21 0.31
13 2-4 ML |=TEEETEHE (4) 11858 0.23 0.29
14 2-5 B | =FEEETEB(S) 11A5H 0.20 0.27
15 2-6 Al |=TEEETEHE (6) 11858 0.17 0.27
16 2-7 B | =FEEBETHB(7) 11A5H 0.20 0.22
17 2-8 Al |=TEEETEE(8) 11858 0.21 0.30
18 2-9 B [ =FTEEETEB(9) 11A5H 0.22 0.35
19 3-2 AL |=TEEETERWL(10) 11858 0.20 0.32
20 3-4 B | =FTEEETEHRILC) 11A5H 0.19 0.38
21 3-5 AL |=TEEETEFE(10) 11858 0.40 0.32
22 3-6 L | =TEEETEFE) 11A5H 0.23 0.35
23 3-7 AL |ZTEEETEH(12) 11858 0.22 0.23
24 3-8 L | =TEEETEFEO3) 11A5H 0.52 0.94
25 3-9 AL |ZTEEETEFE (14) 11858 0.21 0.25
26 | 3-10 LT | =TEEETEFHEOS5) 11A5H 0.22 0.33
27 4-1 AL |=TEEETERL(12) 11858 0.28 0.42
28 4-2 Bl | =FEEETEHRILO3) 11A5H 0.32 0.44
29 4-3 AL |=TEEETERL(14) 11858 0.32 0.31
30 4-4 LT | =TEEETEFHEO6) 11H6H 0.17 0.19
31 4-7 AL |ZTEEETEB(17) 11858 0.22 0.25
32 4-8 LT | =TEEETEFHEOS8) 11A5H 0.17 0.34
33 4-9 AL |=TEEETEFE(19) 11858 0.13 0.17
34 | 4-10 LT | =FEEETEFE (20) 11A5H 0.30 0.27
35 5-4 AL |=TEEETEFE(21) 11H6H 0.22 0.32
36 5-7 LT | =TEEETEE(22) 11A5H 0.20 0.36
37 5-8 AL |=TEEETEFE (23) 11858 0.19 0.29
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38 5-9 At  |(=FEHETEH(24) 11A5H 0.22 0.19
39 5-10 Mm | =FEERTEFE(25) 11A58 0.15 0.17
40 6-1 At |(=FEHEETHEILOS5) 11A6H 0.34 0.42
41 6-2 Mm | =FEEETEL16) 11868 0.18 0.33
42 6-3 A (=FEHEETHELO7T7) 11A6H 0.20 0.32
43 6-4 T | =FEEETAL18) 11868 0.21 0.33
44 6-5 At |(=FEHETEH(26) 11A6H 0.22 0.49
45 6-6 BT | =FEERTEE(27) 11868 0.24 0.37
46 6-7 At |(=FEHETEHE(28) 11A6H 0.14 0.18
47 6-8 Mm | =FEERTEE(29) 11A58 0.18 0.43
48 6-9 ™  |(=FEHETEH(30) 11A5H 0.26 0.41
49 6-10 Mm | =FEERTEFE(GE) 11A58 0.18 0.55
50 7-2 At  |(=FEHETEH(32) 11A6H 0.19 0.28
51 7-3 T | =FEERTEFE(33) 11868 0.20 0.23
52 7-4 AT |=FEHETEH(34) 11A6H 0.20 0.27
53 7-5 Mm | =FEERTEFE(35) 11868 0.22 0.28
54 7-6 ™ |=FEHETEH(36) 11A6H 0.28 0.36
55 7-7 T | =FEERTEE(S7) 11A58 0.28 0.31
56 7-8 At |(=FEHETEFHE(38) 11A5H 0.21 0.35
57 7-9 Mm | =FEERTEFE(39) 11A58 0.20 0.42
58 7-10 AT  |(=FEHETEH(40) 11A5H 0.32 0.47
59 8-1 Mm | =FEEETELO9) 11868 0.23 0.28
60 8-2 At  |=FEHETEHG41) 11A6H 0.17 0.25
61 8-3 Mm | =TEERTEHE(42) 11868 0.23 0.32
62 8-4 ™  |(=FEHETEH43) 11A6H 0.29 0.31
63 8-8 BT | =TEERTEE(44) 11A58 0.23 0.35
64 8-9 ™  |(=FEHETEH(45) 11A5H 0.27 0.43
65 8-10 Mm | =FEERTEHE(46) 11A58 0.34 0.42
66 9-1 At (=FEHEETH#RL(20) 11A6H 0.29 0.39
67 9-2 Mm | =TEERTEE47) 11868 0.37 0.47
68 9-3 At  |(=FEHETEH(48) 11A6H 0.39 0.52
69 9-4 Mm | =FEERTEE(49) 11868 0.23 0.26
70 9-5 At  |(=FEHETEE(50) 11A6H 0.22 0.28
71 9-7 Wm | =FEERTEFEG) 11868 0.16 0.20
72 9-8 ™  |(=FEHETEH(52) 11A5H 0.30 0.37
73 9-9 MT | =FEERTEE(53) 11A58 0.33 0.40
74 9-10 At  |(=FEHETEH(54) 11A5H 0.22 0.36
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75 10-1 At (=FEHEETE#RL(21) 11A6H 0.26 0.40
76 10-2 Mm | =FEEETEL(22) 11868 0.33 0.40
77 10-3 At  |=FEHETEH(55) 11A6H 0.41 0.48
78 10-4 Mm | =FEERTEHE(56) 11868 0.26 0.33
79 10-5 ™ |(=FEHEETEHG7) 11A6H 0.23 0.30
80 10-6 MT | =FEERTEFE(58) 11868 0.19 0.24
81 10-7 AT  |(=FEHETEH(59) 11A6H 0.24 0.33
82 10-9 MT | =FEERTEFHE(60) 11A58 0.22 0.35
83 | 10-10 A |(=FEHEETEHEG1) 11A5H 0.28 0.44
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